d={{0,1, 0,0}, {O,0, -N, O}, {O,0,0, 1}, {-N, O, O, O}}; MatrixForm[d]

0 1 0 O
0 0 -N O
0 0 0 1
-N 0O 0 O

unit = {{1, o, o, o}, {0, 1, 0, 0}, {0, 0,1, O}, {O, 0, 0, 1}}; MatrixForm[unit]

(NN
[eNeN Nl
o oo
= O oo

MatrixForm[d.d]

0 0 -N O
0 0 0 -N
-N 0 0 0
0 -N 0 0

ml = Sign[N] *d.d /N +unit; MatrixForm[ml]

1 0 -Sign[N] 0

0 1 0 -Sign[N]
-Sign[N] 0 1 0

0 -Sign[N] 0 1

m2 = Sign[N] *d.d /N -unit; MatrixForm[m2]

-1 0 -Sign[N] 0

0 -1 0 -Sign[N]
-Sign[N] 0 -1 0

0 -Sign[N] 0 -1

mf = Cos[¢] *unit + Sin[¢] * d/ A/ Abs[N] ; MatrixForm[mf]

md = Cosh[¢] *unit + Sinh[¢p] * d/ 4/ Abs [N] ; MatrixForm[md]

Cos[o] Sin 0 0
Abs [N]
0 Cos[p] - NSinfe] 0
Abs [N]
0 0 Cos[¢] Sin
Abs [N]
_ Nsinfe] 0 0 cos [¢]
Abs [N]
Cosho] _Sinh[o] 0 0
Abs [N]
0 Cosh (0] - NSinh[o] 0
Abs [N]
0 0 Cosh[y] _Sinhfe]
Abs [N]
_ NSinh[e] 0 0 Cosh [@]
Abs [N]




2 | For HW8.nb

(mf.ml -md.m2) /2; MatrixForm[Simplify[sq]]

sq =
1 Sin[p]+Sinh[g 1 .
5 (Cos[e] +Cosh[o]) -5 (Cos[¢] -Cosh[y]) Sign|
2 /Bbs [N]
. . Cas 1 . +Si
NSign[N] (Sin[p]-Sinh[¢]) ; (COS[(,D} +COSh[(,D1) _ N (Sinfo Sinh[g
2 ./ Abs[N] 24/ Abs [N]
- (Cos[¢] ~Cosh[¢]) Sign[N] Stan{il-Sinlol-Sinhlol) 7 (Cos o] +Cosh[o])
2 \/Abs [N]
. .54 1 . . . s
_ N (Sinfg Sinh[g _ ; (COS [(,D] —COSh[(,D]) Slgl’l[N} NSign[N] (Sin[¢p]-Sinh[@])
2/ Abs[N] 2 +/Abs[N]




